L HPAS

- TAHA0| F=E HAHZS AA|

- @Rz ojojot IS

X0
gh
ol

K

Il =e|qez 2

= AlAls

1 0|9] =24 Etdd AlAl

D_

3. A2A(EE A1)

A2 2Y=[ofor &

=
=

QU A

THH2Z A|A|

sampling

al
=

ZTRAR| FF BE9| 2

Ad
=

L

= =
£ 24¢

t I 37|eF SF

s

=

ZICH
H

X0
z

X
JJ

=T 1 AZ25H0| At

=
=

2)

AtExt

EH
=

SAHZIE AAl E 7|

=
[

gt

AR A== of

[

o 232 9

3) SAI71Y :

G@o
X

A

b

__oo

A|gE 12 A

[y

o

2

5. 0|24 HiE

=l
2ol AtgElE 2 H79 S AlAl

22

- eARzA et

Ly

k=1

6. A2l I

4 7017t 7tseA| 7

ZH
AH

- TR oy Al OfufE BE A/



